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B.Sc 2ndSemester (General) Examination, 2022 (CBCS) 

Subject: Chemistry 
Paper: CC-1B/GE-2 

Time: 2 Hours Full Marks: 40 
 

The figures in the right-hand margin indicate full marks 
   Candidates are required to give their answers in their own words as far as practicable. 

ডানপ্রান্তের মানগুলি প্রন্তের পূর্ণমান লনন্তদণ শক 

পরীক্ষার্থীন্তের যর্থাসম্ভব লনন্তের ভাষায় উত্তর লেন্তে হন্তব 
 

 

1. Answer any five questions from the following:                             2 × 5 = 10 
 নীন্তের প্রেগুলি থর্থন্তক যেক োন পোাঁ চটি প্রন্তের উত্তর োওঃ 

 
(a) Compare the thermal and electrical conductivities of diamond and graphite. 

হীরক এবং গ্রাফাইন্তের োপ ও েলিৎপলরবালহোর েুিনা কর। 

(b)  H2S is a gas whereas H2O is a liquid౼ Explain. 

 H2S হি একটি গ্যাস থযখান্তন H2O একটি েরি – থকন বযাখযা কর। 

(c) CaCl2 is soluble in water but CaF2 is insoluble in water ౼Give reason. 

CaCl2 েন্তি দ্রাবয লকন্তু CaF2 েন্তি অদ্রাবয – কারর্ েশণাও। 

(d) Out of the two molecular ions, H2
+ and H2

- which one is more unstable and why? 

 H2
+ এবং H2

- এই দুই আনবআয়ন্তনর মন্তযয থকানটি থবশী অস্থায়ী ও থকন ? 

(e)  What is Boyle point? Also give the equation relating the Boyle point of a van der Waals gas 

and the universal gas constant (R). 

 বন্তয়ি লবনু্দ কী ? একটি ভযানডারওয়াি গ্যান্তসর বন্তয়ি লবনু্দ ও সাবণেনীন গ্যাসধ্রুবন্তকর মন্তযয সম্পলকণ ে সমীকরর্টিও 

থিন্তখা। 

(f) How does the surface tension of water change on dissolving (i) sodium chloride and (ii) 

sodium stearate in it separately? 

 পৃর্থক পৃর্থক ভান্তব (i) থসালডয়াম থলারাইড এবং (ii) থসালডয়াম লিয়ান্তরে দ্রবীভূে করন্তি েন্তির পৃষ্ঠোন্তনর কীভান্তব 

পলরবেণ ন ঘন্তে? 
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(g) A crystal plane has intercepts on the three mutually perpendicular axes of crystal in the ratio 

of 
3

2
:2:1, what are the Miller indices of the plane? 

 থকিান্তসর লেনটি পারস্পলরক উিম্ব অন্তক্ষর উপন্তর একটি থকিাসেি 
3

2
:2:1 অনুপান্তে থেলেোংশ উৎপন্ন কন্তর । 

থকিাসেিটির লমিারসূেকগুলি কী কী? 

(h) Why the rate constant of a reaction is also called as specific reaction rate? 

একটি লবলিয়ার হার ধ্রুবকন্তক আন্তপলক্ষক লবলিয়াহারও বন্তি থকন? 

 

2.  Answer any two questions from the following:     5 × 2 =10 

 নীন্তের প্রেগুলি থর্থন্তক যেক োন দুইটি প্রন্তের উত্তর োওঃ 

 

(a)  (i)  Show that the kinetic energy of an ideal gas is a function of temperature only. 

 (ii)  Calculate the temperature at which the hydrogen molecules will have an average speed 

of 176.4 m s-1 

(i) থেখাও থয আেশণ গ্যান্তসর গ্লেশলি থকবিমাত্র উহার উষ্ণোর অন্তপক্ষক । 

(ii) থয োপমাত্রায় হাইন্তরান্তেন গ্যান্তসর অরু্গুলির গ্ি গ্লেন্তবগ্ 176.4 m s-1 হন্তব ো গ্র্না কন্তরা । 

           2+3=5 

(b)  (i) How does the viscosity change with rise in temperature in case of gas and liquid? 

(ii) Determine the interplanar spacing (d) between the (221) planes of a cubic lattice of side  

length 4.5Å.                                                                                                            

(i) গ্যাস এবং েরন্তির থক্ষন্তত্র উষ্ণোর বৃলির সান্তর্থ সান্দ্রোর পলরবেণ ন লকভান্তব ঘন্তে ? 

(ii) একটি ঘনকাকার থকিাসোিন্তকর (221) থকিাসেিগুলির মন্তযয আেঃেিদূরন্তের (d) মান লনর্ণয় কর, যাহার 

প্রলেটি বাহুর দেঘণয 4.5 Å ।        

           (1+1)+3=5 

(c)  (i) Between KF and KI, which will have the higher value of lattice energy? Justify your  

answer.  

(iii) Arrange the following molecules in the ascending order of dipole moment and also  

explain the order: o-dichlorobenzene, m-dichlorobenzene, p-dichlorobenzene                 
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(i) KF ও KI এর মন্তযয থকানটির িযাটিস শলির মান অলযকের ? থোমার উত্তন্তরর যর্থার্থণো প্রলেষ্ঠা কর । 

(ii) নীন্তের অনুগুলিন্তক উহান্তের লিন্তমরুভ্রামন্তকর ঊিণ িন্তম সাোও এবং এই িন্তমর বযাখযা কর । 

অন্তর্থণা-ডাইন্তলান্তরান্তবলিন, থমো-ডাইন্তলান্তরান্তবলিন,  পযারা-ডাইন্তলান্তরান্তবলিন  

          2+3=5 

(d)  (i) SiCl4 is hydrolyzed in aqueous solution while CCl4 is not — Explain. 

 (ii) Compare the bond angles of NH3 and NF3 and also justify your answer.              

(i) SiCl4 েিীয় দ্রবন্তর্ আদ্রণ লবন্তেলষে হয় লকন্তু CCl4 হয় না —বযাখযা কর  

     (ii) NH3ও NF3এর বন্ধনন্তকান্তর্র েুিনা কর এবং থোমার উত্তন্তরর যর্থার্থণো প্রলেষ্ঠা কর ।   

  2.5+2.5 = 5 

3. Answer any two questions from the following:     10 × 2 =20 

নীন্তের প্রেগুলি থর্থন্তক যেক োন দুইটি প্রন্তের উত্তর োওঃ 

(a)  (i)What do you mean by compressibility factor (Z)? Comment on its significance. 

(ii) Show the variation of compressibility factor (Z) with pressure (P) in case of nitrogen gas  

and hydrogen gas using a qualitative graphical plot of Z vs. P. Also calculate the value  

of Z of 1 mol of van der Waals gas at its critical point. 

(iii) Arrange the following liquids in the order of increasing viscosity and also explain the  

order:Glycerol, Ethanol, Ethylene glycol  

(iv)The flow-time of water and an unknown liquid (L) in a viscometer at 200C are 2 min 24  

s and 1 min respectively. Find the viscosity coefficient of ‘L’ at 200C [Given: viscosity  

coefficient of water at 200C = 1 centipoise, density of water = 1 g cm-3, density of ‘L’ =  

0.8 g cm-3] 

(i)  সংনযমোগুর্ক (Z) বিন্তে লক থবাঝ ? ইহার গুরুে সম্বন্তন্ধ মোমে বযি কর । 

(ii) নাইন্তরান্তেন ও হাইন্তরান্তেন গ্যান্তসর থক্ষন্তত্র Z বনাম P এর গুর্গ্েন্তিখলেন্তত্রর মাযযন্তম গ্যান্তসর োন্তপর সলহে 

সংনযমোগুর্ন্তকর (Z) এর পলরবেণ ন থেখাও । 1 থমাি একটি ভযানডারওয়ািগ্যান্তসর সংকেলবনু্দন্তে উহার Z এর 

মান লনর্ণয় কর । 

(iii) সান্দ্রোর মান্তনর ঊযণিমানুসান্তর লনম্নলিলখে েরিগুলিন্তক সাোও এবং এই িমটির সপন্তক্ষ বযাখযা োও: 

  লিসারি, ইর্থানি, ইলর্থলিনিাইকি 
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(iv) 200C এ একটি লভসন্তকালমোন্তর েি এবং একটি অোনা েরি (L) এর প্রবান্তহর সময় যর্থািন্তম 2 লমলনে 24 

থসন্তকন্ড এবং 1 লমলনে । 200C এ ‘L’-এর সান্দ্রোগুর্ান্তের মান লনর্ণয় কন্তরা । [থেওয়া আন্তে: 200C এ েন্তির 

সান্দ্রোগুর্ান্তের মান = 1 থসলিপন্তয়স, েন্তির ঘনে = 1 g cm-3,‘L’ এর ঘনে= 0.8 g cm-3] 

(1+2)+(1+2)+2+2=10  

 

(b)  (i) What do you mean by Bravais lattices? The second order reflection of X-rays from 

(100) planes of NaCl lattice occurs at an angle of 29.30. If the wavelength of used X-ray is 

1.54 Å, calculate the distance of separation between two successive planes in the NaCl 

lattice. 

(ii) Derive the integrated rate equation for a second order reaction: 2A → P, where A and P 

represent the reactant and product, respectively. Also arrive at the expression of half-life 

from the integrated rate equation. 

(iii) Calculate the activation energy of a reaction of which reaction rate constant at 270C 

gets doubled for 100C rise in temperature. 

(i) ব্রালভস িযাটিস বিন্তে কী থবাঝ ? NaCl িযাটিন্তসর (100) েিগুলির মন্তযয এক্স-রলির 29.3° থকান্তর্ লিেীয় 

িন্তমর প্রলেফিন ঘন্তে । যলে বযবহৃে এক্স-রলির েরঙ্গদেন্তঘণযর মান1.54 Å হয়, োহন্তি NaCl িযাটিন্তসর 

ঐরূপ দুটি িমসংিগ্নেন্তির মন্তযয দূরে লনর্ণয় কর । 

(ii) একটি লিেীয় িন্তমর রাসায়লনক লবলিয়া, 2A → P এর সমাকলিে হার সমীকরর্টি প্রলেষ্ঠা কর, থযখান্তন A 

এবং P যর্থািন্তম লবলিয়ক ও লবলিয়াোে পোর্থণন্তক প্রকাশ কন্তর । হার সমীকরর্টির সমাকলিে রূপটি থর্থন্তক 

উহার অযণায়ুর রালশমািায় উপনীে হও । 

(iii) একটি লবলিয়ার সলিয়করর্ শলির মান লনর্ণয় কর যাহার হার ধ্রুবন্তকর মান 100C উষ্ণোবৃলিন্তে 270C এর 

মান্তনর লিগুর্ হয় ।        (1+2)+(3+2)+2 =10 

(c)  (i)The dipole moment of a diatomic molecule is 1.2 D and its bond length is 1.0 Å. Find 

the percentage of ionic nature of the molecule. 

 (ii) FeCl3 is soluble in ether whereas AlCl3 is insoluble in ether. ౼ Explain why? 

 (iii) The compound PCl5 does exist while NCl5 does not. ౼Justify the statement. 
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(iv) Arrange the following in the ascending order of stability and bond dissociation energy 

and also explain the order: O2, O2
+, O2

-, O2
2-. Also arrange the species in the descending 

order of bond length.  

(i) একটি লি-পারমার্লবক অরু্র লিন্তমরু ভ্রামন্তকর মান হি 1.2 D এবং এর বন্ধন্তনর দেঘণয হি 1.0 Å। অরু্টির 

আয়লনয় প্রকৃলের শোংশ লনর্ণয় কর । 

(ii) FeCl3 ইর্থার দ্রাবন্তক দ্রবীভূে হয় থযখান্তন AlCl3 ইর্থান্তর অদ্রবীভূে র্থান্তক – থকন বযাখযা কর । 

(iii) PCl5 থযৌগ্টির অলিে আন্তে লকন্তু NCl5 এর থকান অলিে থনই । - উলিটির যর্থার্থণো লবোর কর। 

(iv) স্থালয়ে এবং বন্ধন লবন্তয়ােন শলির ঊিণ িমানুসান্তর নীন্তেরগুলিন্তক সাোও ও িমটি বযাখযা কর । 

O2, O2
+, O2

-, O2
2-. এইগুলিন্তক বন্ধনদেন্তঘণযর অযঃিন্তমওসাোও। 

2+2+2+[(1+2)+1]=10 

(d)  (i)Draw the resonating structures (canonical forms) along with resonance hybrid of (a)  

CO3
2- and (b) NO3

- ions. 

(ii) Explain the shape of the following molecules and also mention the type of 

Hybridization of the central atom of (a) BCl3, (b) SF6 and (c) IF7. 

(iii)Based on the concept of LCAO method, distinguish between the bonding and  

antibonding molecular orbitals (M.O.). 

         (iv)  What do you mean by inert pair effect? How does this effect influence the stability of 

the (+5) oxidation state of group-15 elements? 

(i) (a) CO3
2- এবং (b) NO3

- আয়নগুলির সংস্পলন্দে সংকরালয়ে অবস্থার গ্ঠন সহসংস্পন্দন গ্ঠনগুলি 

(কযান্তনালনকাি রূপগুলি) আঁক। 

(ii) নীন্তের অনুগুলির থকন্দ্রীয় পরমানুর সংকরালয়ে অবস্থার উন্তেখ কন্তর উহান্তের গ্ঠন বযাখযা কর (a) BCl3, (b) 

SF6 এবং (c) IF7. 

(iii) LCAO পিলের যারর্ার লভলত্তন্তে বলন্ডং ও অযালিবলন্ডং আনলবক কক্ষন্তকর (M.O.)র মন্তযয পার্থণকয লনরূপন 

কর। 

(iv) লনলিয়ন্তোিএর প্রভাব বিন্তে লক থবাঝ ?   15েম থের্ীর থমৌিগুলির (+5) োরর্ অবস্থার স্থালয়েন্তক এই 

প্রভাব লকভান্তব প্রভালবে কন্তর? 

          (1+1)+3+2+(1+2) =10 


